
3 The heat equation
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3.1 Preliminaries
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Fundamental Theorem of Calculus
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• Fundamental Theorem of Calculus: If f (x) is continuous in a neighbourhood of a, then

1
h

a+hZ

a

f (x) dx ! f (a) as h ! 0.

• Leibniz’s Integral Rule: Let F (x , t) and @F/@t be continuous in both x and t in some region R

of the (x , t) plane containing the region S = {(x , t) : a(t)  x  b(t), t0  t  t1}, where the

functions a(t) and b(t) and their derivatives are continuous for t 2 [t0, t1].

Then
d
dt

Z
b(t)

a(t)

F (x , t) dx =

Z
b(t)

a(t)

@F
@t

(x , t) dx + ḃ(t)F (b(t), t)� ȧ(t)F (a(t), t).

As a result, if a(t) and b(t) are

constants, then

d
dt

Z
b

a

F (x , t) dx =

Z
b

a

@F
@t

(x , t) dx .
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3.2 Derivation of the one-dimensional heat equation
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• Consider a rigid isotropic conducting rod (e.g. metal) of constant cross-sectional area A lying

along the x-axis.

• We shall consider conservation of thermal or heat energy in the arbitrary section of the rod in

a  x  a+ h, where a and h are constants, as illustrated below.

• In simplest 1D model we assume that the lateral surfaces of the rod are insulated, so that no

thermal energy can be transported through them and the absolute temperature T may be taken

to be a function of distance x along an axis of the rod and time t.

• This assumption is applicable if the rod is long and thin, like a wire.
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• We denote by ⇢ the density of the rod and by cv the specific heat of the rod, and we assume that

these material parameters are constant.

• The specific heat cv of a material is the energy required to heat up a kilogram by one degree

kelvin (in SI units, about which more in §3.4), so the thermal energy in the section of the rod in

a  x  a+ h is given by

A

Z
a+h

a

⇢cvT (x , t) dx .

• We now introduce the heat flux q(x , t) in the positive x-direction, which is the rate at which

thermal energy is transported through a cross-section of the rod at station x at time t in the

positive x-direction per unit cross-sectional area per unit time.

• By definition, the rate at which thermal energy enters the section through its left-hand

cross-section in the plane x = a is Aq(a, t).

• Similarly, the rate at which thermal energy leaves the section through the right-hand cross-section

in the plane x = a+ h is Aq(a+ h, t).

• Hence, with our sign convention on the heat flux, the net rate at which thermal energy enters the

section is

Aq(a, t)� Aq(a+ h, t).
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• Assuming insulated lateral surfaces and no external heating (e.g. due to microwave heating),

conservation of energy states that the rate of change of the thermal energy in the section is equal

to the net rate at which thermal energy enters the section, so that

d
dt

0

@A

a+hZ

a

⇢cvT (x , t) dx

1

A

| {z }
(1)

= Aq(a, t)

| {z }
(2)

�Aq(a+ h, t)

| {z }
(3)

,

where we have labeled the three terms in order to summarize their physical significance as follows:

(1) is the time rate of change of thermal energy in the section in a  x  a+ h;

(2) is the rate at which thermal energy enters the section through x = a;

(3) is the rate at which thermal energy leaves the section through x = a+ h.

• We note this integral conservation law is also true for h < 0 with appropriate reinterpretation of

the terms.
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• Assuming Tt is continuous, Leibniz’s Integral Rule with a and a+ h constant gives

⇢cv
h

a+hZ

a

Tt(x , t) dx +
q(a+ h, t)� q(a, t)

h
= 0,

where we have also rearranged into a form that will enable us to take the limit h ! 0.

• To take the limit h ! 0,

apply the Fundamental Theorem of Calculus assuming Tt is continuous in a neighbourhood of a;

use the definition of qx assuming it to exist at a.

• We obtain thereby the partial di↵erential equation

⇢cvTt + qx = 0,

which relates the time rate of change of the temperature and the spatial rate of change of the

heat flux.
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• To make further progress we must decide how the heat flux q depends on the temperature T .

• This is called a constitutive relation and cannot be deduced, relying instead on some assumptions

about the physical properties of the material under consideration.

• An example of a simple constitutive relation is Hooke’s law for the extension of a spring — we

note that

a “thought-experiment” suggests this law is reasonable;

it could be confirmed experimentally;

it will almost certainly fail under “extreme” conditions.

• To close our model for heat conduction we will adopt Fourier’s Law, which is the constitutive law

given by

q = �kTx ,

where k is the thermal conductivity of the rod, which is another material parameter that we take

to be constant.
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• The minus sign in Fourier’s law means that thermal energy flows down the temperature gradient,

i.e. from high to low temperatures.

• Physical experiments confirm that Fourier’s law is an excellent approximation in many practical

applications.

• We note that a good conductor of heat (such as silver) will have a higher thermal conductivity

than a poor conductor of heat (such as glass).

• Substituting Fourier’s law q = �kTx into the PDE ⇢cvTt + qx = 0 representing conservation of

thermal energy, we arrive at the heat equation

@T
@t

= 
@2

T

@x2
,

where the thermal di↵usivity

 =
k

⇢cv
.

• The heat equation is a second-order linear partial di↵erential equation.
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3.3 Initial boundary value problems
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• There are numerous applications of the heat equation ranging from the di↵usive transport of

chemical species to the pricing of financial derivatives, the latter being governed by a backward

heat equation called the Black-Scholes equation.

• In this course we focus on the modelling of the evolution of the temperature T (x , t) in a metal

rod of finite length L lying along the x-axis in the region 0  x  L.

• Suppose the metal is at room temperature T0 ⇡ 300K when some large ice blocks at their melting

temperature T
⇤ ⇡ 273K are held instantaneously against each end of the rod at time t = 0.

• We encode this setup into a mathematical model, as follows:

the temperature T (x , t) satisfies the heat equation inside the rod, so that

@T

@t
= 

@2T

@x2
for 0 < x < L, t > 0;

the e↵ect of the ice blocks on the rod are modelled through the boundary conditions

T (0, t) = T
⇤, T (L, t) = T

⇤ for t > 0;

the initial state of the temperature in the rod is fed into the initial condition

T (x , 0) = T0 for 0 < x < L.

101/308



Notes

(1) The heat equation, boundary conditions and initial condition forms an initial boundary value

problem (IBVP) for the temperature T (x , t).

(2) The boundary conditions are called Dirichlet boundary conditions because they prescribe the value

of the dependent variable T . They are homogeneous if T ⇤ = 0 and inhomogeneous otherwise.

(3) While the boundary and initial conditions were motivated on physical grounds, they can only make

mathematical sense if the IBVP is well-posed in the sense that it has a unique solution that varies

continuously with the boundary and initial data (i.e. with T
⇤ and T0) in some suitable sense. We

we shall return to the issue of well-posedness in §7.

(4) The total number of boundary conditions is equal to the number of spatial partial derivatives in

the heat equation, which is the same count as for a typical ODE BVP. The total number of initial

conditions is equal to the number of temporal derivatives in the heat equation, which is the same

count as for a typical ODE IVP. These counts are typical for PDE IBVPs.
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• Definition: The outward normal derivative of T on the boundary is equal to the directional

derivative in the direction of the outward pointing unit normal, i.e. �i ·rT = �Tx on x = 0 and

i ·rT = Tx on x = L.

• Other common boundary conditions are:

inhomogeneous Neumann boundary conditions which prescribe the outward normal derivative of the
dependent variable on the boundary (here proportional to the heat flux q = �kTx by Fourier’s law),
e.g.

�
@T

@x
(0, t) = �(t),

@T

@x
(L, t) =  (t) for t > 0,

where the functions �(t) and  (t) are given.

inhomogeneous Robin boundary conditions which prescribe a linear combination of the outward
normal derivative and temperature at the boundary, e.g.

�
@T

@x
(0, t) + ↵(t)T (0, t) = �(t),

@T

@x
(L, t) + �(t)T (l ,T ) =  (t) for t > 0,

where the functions ↵(t), �(t), �(t) and  (t) are given.
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3.4 Units and nondimensionalisation
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• Notation: We denote the dimension of the quantity p by [p] in either fundamental units

(M, L,T ,⇥ etc) or SI units (kg, m, s, K etc).

• We will work with the latter and recall that kelvin K is the SI unit of temperature, the newton N

is the SI derived unit of force (1N = 1 kgm s�2), while the joule J is the SI derived unit of energy

(1 J = 1Nm).

• Both sides of an equation modelling a physical process must have the same dimensions, e.g. in the

integral conservation law,
2

4 d
dt

0

@A

a+hZ

a

⇢cvT (x , t) dx

1

A

3

5 = [Aq(a, t)] = [Aq(a+ h, t)] = J s�1,

while in the heat equation,

[Tt ] = [Txx ] = K s�1.

• We can exploit this fact to determine the dimensions of parameters and to check that solutions

are dimensionally correct.
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• For example, using Fourier’s Law we find that

[k] =
[q]
[Tx ]

=
Jm�2 s�1

Km�1 = JK�1 m�1 s�1,

and using the heat equation we find that

[] =
[Tt ]
[Txx ]

=
K s�1

Km�2 = m2 s�1.

• We summarize below the dimensions of the variables and parameters involved in the derivation of

the one-dimensional heat equation.

Symbol Quantity SI units

x Axial distance m

t Time s

T Absolute temperature K

q Heat flux in positive x-direction Jm�2 s�1

A Cross-sectional area m2

⇢ Rod density kgm�3

cv Rod specific heat J kg�1 K�1

k Rod thermal conductivity JK�1 m�1 s�1

 Rod thermal di↵usivity m2 s�1
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• Nondimensionalisation: The method of scaling variables with typical values to derive

dimensionless equations. These usually contain dimensionless parameters that characterise the

relative importance of the physical mechanisms in the model.

• We illustrate the method with an example.
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Example : Nondimensionalization of an IBVP
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Example: nondimensionalisation of an IBVP

⌅ Consider the IBVP for the temperature T (x , t) in a metal rod of length L given by the heat

equation
@T
@t

= 
@2

T

@x2
for 0 < x < L, t > 0,

with the inhomogeneous Dirichlet boundary conditions

T (0, t) = T0, T (L, t) = T1 for t > 0,

and the initial condition

T (x , 0) = T2
x

L

⇣
1� x

L

⌘
for 0 < x < L,

where T0, T1 snd T2 are prescribed constant temperatures.

⌅ Remark: There are five dimensional parameters, namely , L, T0, T1 and T2.

⌅ We can nondimensionalise by scaling

x = Lbx , t = ⌧bt, T (x , t) = T2
bT (bx , bt ),

where L, ⌧ and T2 are a typical lengthscale, timescale and temperature, respectively, so that the

quantities bx , bt and bT are dimensionless.
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⌅ By the chain rule,

@T
@t

= T2
@ bT
@bt

dbt
dt

=
T2

⌧
@ bT
@bt

,
@T
@x

= T2
@ bT
@bx

dbx
dx

=
T2

L

@ bT
@bx , etc.

⌅ Hence, the dimensional problem for the dimensional temperature T (x , t) implies that the

corresponding dimensionless problem for the dimensionless temperature bT (bx , bt ) is given by

@ bT
@bt

= D
@2 bT
@bx2

for 0 < bx < 1, bt > 0,

with the boundary conditions

bT (0, bt ) = ↵0, bT (1, t) = ↵1 for bt > 0,

and the initial condition
bT (bx , 0) = bx(1� bx ) for 0 < bx < 1,

where the three dimensionless parameters D, ↵0 and ↵1 are defined by

D =
⌧
L2

, ↵0 =
T0

T2
, ↵1 =

T1

T2
.
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⌅ We can further reduce the number of dimensionless parameters to two by choosing the timescale

⌧ so that D = 1, i.e. by choosing

⌧ = L
2/,

which is the timescale for conductive transport of heat over a distance L because it balances both

terms in the heat equation.

⌅ With this choice of timescale, we note that if bT (bx , bt;↵0,↵1) is a solution of the IBVP for bT , then

a solution of the IBVP for T is given by

T

T2
= bT

✓
x

L
,
t
L2

;
T0

T2
,
T1

T2

◆
,

i.e. T/T2 must be a function of x/L and t/L2.

⌅ This means that we can compare heat problems on di↵erent scales. For example, two IBVPs that

are identical except for L and  will exhibit the same behaviour on the same timescale if and only

if L2/ is the same in each problem. ⌅
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3.5 Heat conduction in a finite rod
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• Consider the initial boundary value problem for the temperature T (x , t) in a metal rod of length L

given by the heat equation

@T
@t

= 
@2

T

@x2
for 0 < x < L, t > 0,

with the homogeneous Dirichlet boundary conditions

T (0, t) = 0, T (L, t) = 0 for t > 0,

and the initial condition

T (x , 0) = f (x) for 0 < x < L,

where the initial temperature profile f (x) is given.

• We will construct a solution using Fourier’s method, which consists of three steps.
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• Fourier’s method:

(I) Use the method of separation of variables to find the countably infinite set of nontrivial separable
solutions satisfying the heat equation and boundary conditions, each containing an arbitrary constant.

(II) Use the principle of superposition — that the sum of any number of solutions of a linear
homogeneous problem is also a solution (assuming convergence) — to form the general series solution
that is the infinite sum of the separable solutions.

(III) Use the theory of Fourier series to determine the constants in the general series solution for which it
satisfies the initial condition.

• Notes:

(1) Both the partial di↵erential equation and and the boundary conditions are linear and homogeneous,
so if T1 and T2 satisfy them, then so does ↵1T1 + ↵2T2 for all ↵1, ↵2 2 R.

(2) To verify that the resulting infinite series is actually a solution of the heat equation, we need it to
converge su�ciently rapidly that Tt and Txx can be computed by termwise di↵erentiation.
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Application of Fourier 's Method to an IBVP
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Hence
,
the nontrivial solution, for F are given for nt IN IS05 by

FIN = 0 sin INIT) , + = (htt )
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'
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Step III

①e② lineare homogeneous , so assuming convergence we can superimpose
them to obtain the general series solution

TL4H = EE, Tulsi,H = II, bnsinHI) expfn"'It)
step HII

The I④ 71401 = Hat tnocxcl can only be satisfied by the
general series solution if on sin (NIL) = Hoyo) =Halter oak

.

The theory of Fourier series ⇒ bn =k of that sin Ida fan HEINISOI .

Hence
,
we have derived (assuming convergence) an infinite series solution .



Step (I) Find all nontrivial separable solutions of the PDE and BCs

• We begin by seeking a nontrivial separable solution of the form T = F (x)G(t) for which the heat

equation Tt = Txx gives

F (x)G 0(t) = F 00(x)G(t),

with a prime 0 denoting here and hereafter the derivative with respect to the argument.

• Separating the variables by assuming F (x)G(t) 6= 0 therefore gives

F
00(x)
F (x)

=
G

0(t)
G(t)

.

• The LHS of this expression is independent of t, while the RHS is independent of x . Since the LHS

is equal to the RHS, they must both be independent of x and t, and therefore equal to a

constant, �� 2 R say.

• Hence,

F
00 + �F = 0 for 0 < x < L and G

0 = ��G for t > 0.
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• The boundary condition at x = 0 implies that F (0)G(t) = 0 for t > 0. Since we’re seeking

solutions T that are nontrivial (i.e. not identically equal to zero), there must exist a time t > 0

such that G(t) 6= 0, and hence we must impose on F (x) the boundary condition F (0) = 0.

Similarly, the boundary condition at x = L implies that F (L) = 0.

• In summary, we have deduced that F (x) satisfies the BVP given by the ODE

�F
00(x) = �F (x) for 0 < x < L,

with the boundary conditions

F (0) = 0, F (L) = 0,

where � 2 R.

• Now we need to find all � 2 R such that the BVP for F (x) has a nontrivial solution.

• Since the general solution of the ODE is di↵erent for (i) � < 0, (ii) � = 0 and (iii) � > 0, there

are three cases to consider.
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• Case (i): � = �!2 (! > 0 wlog)

If F 00 � !2
F = 0, then F (x) = A cosh(!x) + B sinh(!x), where A,B 2 R.

The boundary conditions then require A = 0, B sinh(!L) = 0, so that F = 0.

• Case (ii): � = 0

If F 00 = 0, then F (x) = A+ Bx , where A,B 2 R.

The boundary conditions then require A = 0, BL = 0, so that F = 0.

• Case (iii): � = !2 (! > 0 wlog)

If F 00 + !2
F = 0, then F (x) = A cos(!x) + B sin(!x), where A,B 2 R.

The boundary conditions then require A = 0, B sin(!L) = 0.

Since B 6= 0 for nontrivial F , we must have sin!L = 0, i.e. !L = n⇡ for some n 2 N \ {0}.
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• Hence, the nontrivial solutions of the BVP for F (x) are given for positive integers n by

F (x) = B sin
⇣
n⇡x
L

⌘
, � =

n
2⇡2

L2
,

where B is an arbitrary constant.

• Since G(t) satisfies the ordinary di↵erential equation G
0 = ��G , we deduce that

G(t) = C exp (��t) ,

where C 2 R.

• Since T (x , t) = F (x)G(t), we conclude that the nontrivial separable solutions of the heat

equation that satisfy the boundary conditions are given by

Tn(x , t) = bn sin
⇣
n⇡x
L

⌘
exp

✓
�n

2⇡2t
L2

◆
,

where n is a positive integer, bn is a constant (equal to BC above) and we have introduced the

subscript n on Tn and bn to enumerate the countably infinite set of such solutions.
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Step (II) Apply the principle of superposition

• Since the heat equation and boundary conditions are linear and homogeneous, a formal

application of the principle of superposition implies that the general series solution is given by

T (x , t) =
1X

n=1

Tn(x , t) =
1X

n=1

bn sin
⇣
n⇡x
L

⌘
exp

✓
�n

2⇡2t
L2

◆
.
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Step (III) Use the theory of Fourier series to satisfy the IC

• The initial condition can only be satisfied by the general series solution if

f (x) = T (x , 0) =
1X

n=1

bn sin
⇣
n⇡x
L

⌘
for 0 < x < L,

so that we need to find the Fourier sine series for f on [0, L].

• The theory of Fourier series implies that the Fourier coe�cients bn are given by

bn =
2
L

LZ

0

f (x) sin
⇣
n⇡x
L

⌘
dx for n 2 N \ {0}.

• Hence, we have derived a solution in the form of an infinite trigonometric series.
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Notes:

• The ODE BVP for F (x) and � is an eigenvalue problem in which the unknown parameter � is

called an eigenvalue and the corresponding non-trivial solution F (x) an eigenfunction.

• The Fourier series expansions for f and T are therefore called eigenfunction expansions.

• That there are a discrete countably infinite set of eigenvalues and corresponding eigenfunctions is

a property of the BVP that is explained by Sturm-Liouville theory of e.g. part A DEs 2.

• The integral expressions for the Fourier coe�cients may be derived by assuming that the orders of

summation and integration may be interchanged and using the orthogonality relations
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• Since Tn(x , t) decays exponentially as n ! 1 for t > 0, comparison methods from Analysis II

may be used to show that if the Fourier coe�cients bn are merely bounded for all n, then the

general series solution has partial derivatives of all orders for t > 0 that may be computed by

term-by-term di↵erentiation.

• It follows from the Fourier convergence theorem that if f and f
0 are piecewise continuous on

(0, L), then the infinite series solution is indeed a solution of the IBVP. Thus, Fourier’s method

can accommodate even jump discontinuities in the initial temperature profile, the heat equation

acting to instantaneously “smooth” them out.

• If the initial temperature profile has a jump discontinuity, then the truncated series solution for

T (x , t) will exhibit Gibb’s phenomenon at t = 0, and hence at su�ciently small times t ⌧ L
2/

by continuity.

• In principle this deficiency can be avoided at some fixed t > 0 by keeping enough terms. In

contrast, the exponential decay of Tn(x , t) with n
2t/L2 means that the solution will be well

approximated by the leading-term T1(x , t) at su�ciently large large times t � L
2/.
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Example: the smoothing e↵ect of the heat equation

⌅ Consider the IBVP in which the initial temperature profile given by

f (x) =

(
T

⇤ for L1 < x < L2,

0 otherwise,

where T
⇤, L1 and L2 are constants, so that the Fourier coe�cients are given by
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for n 2 N\{0}.

⌅ We plot below snapshots of the partial sums of the truncated series solution (red lines) with 32,

64, 128 and 256 terms at times t given by t/L2 = 10�5, 10�4, 10�3, 10�2 and 10�1 for

L1/L = 0.2, L2/L = 0.4.

⌅ The jump conditions in the initial temperature profile at L1/L = 0.2 and L2/L = 0.4 are indicated

by vertical black lines.
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⌅ As the number of terms increases we see that Gibb’s phenomenon is suppressed more rapidly.

⌅ Any profile that is oscillatory or not positive for 0 < x < L, t > 0 is a poor approximation of the

solution, so we see that only the plot with 256 terms is acceptable for the times chosen.

⌅ The final snap shot in each case is close to T1(x , t) (dashed line) for which ⇡2t/L2 = ⇡2/10.

⌅ The early time behaviour is captured much more e↵ectively by the asymptotic solution

T (x , t) ⇡ T
⇤

p
4⇡t

Z
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◆
ds,

which is valid as t ! 0+.

⌅ The asymptotic solution does not exhibit Gibb’s phenomenon and tends to the initial profile as

t ! 0+ except at the jump discontinuities where it tends to T
⇤/2.

⌅ The asymptotic solution is the superposition of fundamental solutions of the heat equation and

may be derived systematically using the method of matched asymptotic expansions — see part A

Di↵erential Equations 2 and Integral Transforms. ⌅
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